cdot m "W [1/GeV?]

Ratio to ATLAS

|
o
&

T

A0S
o d2 {p

|
o
o

[EEY

0.5

13000 GeV pp tt
| T I T I T I T I T | T I I | ﬂ
c
- pf"’” (ATLAS ttbar) 2
=
m  ATLAS ~
| —A— Pythia 6.428 370 —n
~ A Pythia 6.428 373 1=
[ --©-- Pythia 6.428 374 s
| Pythia 6.428 375 1
| 4 Pythia 6.428 381 z
. --¥-- Pythia 6.428 382 |
- |z
o™
<
o™
o
— — O
- 4™
- |
B 4=
- HEe
o s,
N
- )
S
- | ®
Q
[%)]
IS
- 1
(@]
| | | | | | | | | | &
:l T T T T | T T T |:
— —2
1
a —0.5
| 1 1 1 1 " | " 1 1 " 1 " |
0 500 1000



	Contents
	Page 1


